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XHH | XHIEB X H WA XHE%E
8| 2| =E |[BEEIS— 10,000
8| 4| =E |SNSEELGEEERNBEREFSEHEERKSRSBHRAES 6,000
8| 4| #E [REXIG 6,160
8| 5| & [|REXIG 12,501
8| 7| & [REXIG 4,600
8| 7| HBE |FTH 5,000
8| 7| WmE |HES 20,000
8| 8| & [|REXIG 19,010
8| 9| & [|XEXIG 6,560
8| 9| & |REXGE 6,996
8| 14| HE |HES 20,000
820 & |BEEAXRKE 6,511
8|22 #&E [REXIG 9,658
8|22 & |HABEXW 3,500
8|25 HBE |FTH 10,000
8l28| %= TME N RBRARSBHRRE 6,000
828 % BEMEOYEERBBHRRE 5,000
8|28 & |REXIG 20,000
8|28 & [REXGE 12,500
829 & |REXIG 4,150
8|29 = Btz — 10,000
8ARNEE 204,146
SHSEES RET 1,137,332




